WPC French Qualifier 2008 — Instructions

Part | — 100 minutes — 600 points + time bonus

A puzzler who submits correct answers to all puzzles befbeeend of this round will
receive a bonus of 5 points for each remaining full minute.

1. Battleships (20 points)

Locate the position of the 10-ship fleet in the grid. The fleethiown below: one 4-unit bat-
tleship, two 3-unit cruisers, three 2-unit destroyers, Bma 1-unit submarines. Each segment
of a ship occupies a single cell. Ships are oriented eithezdwatally or vertically, and they do
not touch each other, not even diagonally. The numbers olethend bottom edges of the grid
reveal the total number of ship segments that appear in esgective row or column.

Example: 2 Solution: 2
(with a smaller fleet) ab
0 ab 0
amp
3 3 dHED

2. Coral finder (25 + 30 points)

Blacken a connected set of squares (the coral) that doesundt itself, not even diagonally.
The numbers outside the grid indicate the lengths of theemriszve parts of the coral in the
given row or column. However, the numbers are given in ingirgaorder, not in the order in
which they actually appear in the grid. No 2x2 area may be real/by the coral.

Example: Solution:

A W NN

O R R RFE RPN

w K
QU
R
N
w K
N PR




3. Crack it on (20 points)

Enter all the given words into the two grids in such a way trethearea contains exactly
one letter. The words should read across and down in evenanalxcolumn of each grid.

Example: Solution:
L P D
S Y
A E
AlP| E R
M
C| A |T Cc |O

APE CAT LEA SEY
ARC COM PAC SLY
ARE DEM PAD SPA
ARM DRO SAC YET

4. Parthenon (25 points)

Fill the blank squares in each column with numbers from 1 t¢23® 6 in the example),
so that each number is obtained from the number immediabelyeait by performing the given
mathematical operation. Each number appears exactly once.

Example: Solution:
/\ /\
1 4
X3 -2 1 4 X3 -2
2 5 3 2
+2 +4 3 6 +2 +4
5 6

5. Loopfinder (15 + 35 points)

Draw a continuous loop formed by straight line segments eoting the centers of adjacent
squares. The loop must not cross or overlap itself, and msisiall squares. Some parts of the
loop are already given.

Example: Solution:

L]

T
I

L[
,_—I




6. End view (25 + 30 points)

Place the letters A, B, C, and D into the diagram (in the exan®|®, and C), so that each
letter occurs once in each row and column. The letters caitid diagram indicate the first
letter seen from that direction.

Example: C B Solution: C C/A|B|B
A B|C
B B|B|A|C
C c|c|B A
B B

7. Magnets (35 points)

The grid is made up of magnetic and non-magnetic plates. Bwgnetic plate has two
halves: one positive and one negative. Halves with the sgméda cannot touch each other
horizontally or vertically. The numbers to the right of thedgand below it indicate the number
of magnetic halves in that particular row or column.

Example: ‘ 11 Solution: |.* ‘ 11
2 1 + - |+]2 1
1 2 +|-11 2
| 2 2 [ +]2 2
2 1 + 2 1 2 +
2 2

8. Word jungle (40 points)

The grid contains all the given words except one. The wordg bearotated, but not re-
flected. Find the missing word. (The English translatioresgiven only for your information;
they are not part of the puzzle)

Note: to solve the puzzle it is sufficient to identify the nimgsword. You do not need to locate
all the other words in the grid.

Example: |©0 Q ® X M| UN (one) Solution: Q » M
— N T DO DEUX (two) N T -
Z U N W w TROIS (three) g "
CINQ (five)
© 20 anNl gxeix 200 Nn|gyx
S 1 O0d 1 S—+—6—+—+




9. Four winds (20 + 50 points)

One or more horizontal or vertical lines are drawn from easmbered square. Lines cannot
cross other numbered squares. Each number indicates howsgaares are connected by its
lines; the numbered squares themselves are not countedin®dverlap or intersect each
other, and each empty square is covered by exactly one line.

Example: 5 Solution: 1o,

2 2

|
4 4

10. Arrows (15 + 60 points)

Insert arrows in the empty squares of each grid. All arrowsfgiowards the grid, and the
numbers inside the grid indicate the number of arrows fatiegn.

Example: Solution:

NERAN
313 N|[2|3]|3 |«
4 11114 |¢
5|6 —>[2|5]|6 |«
Al A1

11. Kropki (20 + 55 points)

Fill the table with digits from 1 to 7 (in the second puzzlerfrd to 8), so that each digit
appears in every row and column exactly once. If the absdliffierence between the digits in
two adjacent cells equals 1 then they are separated by a ddtitéf the digits in two adjacent
cells are exactly half of each other then they are separateatilack dot. The dot between
adjacent cells containing “1” and “2” can be either white tadk.

Example: T T Solution: [ T5 757302
(digits 1-5) e o] oo o]
° 2¢4 1 5 3

' 5/392¢4 |1

i 413025

? . 3|5 ? 4112

12. Japanese sums (80 points)

Place digits 1-9 in the grid, only different digits in eaclwrand column. The numbers
outside the grid indicate the sum of the digits filled in cangively, in the order in which they
occur. Two different sums must be separated by at least opé/esguare.

3 Solution: [17T>

Example:

o 01 OO W

o U1 OO W

[EEN
N
[N

A N|W|PF




